Chapter 12 – Practice Questions



1.
The average amount of goods and services produced from each hour of a worker's time is called

a.
per capita GDP

b.
per capita GNP

c.
productivity

d.
human capital


2.
Which of the following is a determinant of productivity?

a.
human capital per worker

b.
physical capital per worker

c.
natural resources per worker

d.
All of the above are correct.


3.
Which of the following would not be considered physical capital?

a.
a new factory building

b.
a computer used to help Mercury Delivery Service keep track of its orders

c.
on-the-job training

d.
a desk used in an accountant's office


4.
Human capital is the

a.
knowledge and skills that workers acquire through education, training, and experience.

b.
stock of equipment and structures that is used to produce goods and services.

c.
total number of hours worked in an economy.

d.
same thing as technological knowledge.


5.
The behavior of market prices over time show that natural resources

a.
are a limit to economic growth.

b.
are unrelated to economic growth.

c.
are not a limit to economic growth.

d.
are the major determinant of productivity.


6.
The relationship between the quantity of output created and the quantity of inputs needed to create it is called

a.
the capital accumulation function.

b.
technological knowledge.

c.
the production function.

d.
human capital.


7.
An understanding of the best ways to produce goods and services is called

a.
human capital.

b.
physical capital.

c.
technology.

d.
productivity.


8.
Using the production function and notation in the text, K/L measures

a.
natural resources per worker.

b.
human capital per worker.

c.
output per worker.

d.
physical capital per worker.


9.
Using the notation and production function in the text, Y/L is

a.
productivity.

b.
output.

c.
per capita GDP.

d.
both A and C.


10.
Other things the same, a country that increases its saving rate increases

a.
its future productivity and future real GDP.

b.
neither its future productivity nor future real GDP.

c.
its future productivity, but not its future real GDP.

d.
its future real GDP, but not its future productivity.


11.
Which of the following is an example of the "brain drain"?

a.
A country's most highly educated workers emigrate to rich countries.

b.
A country has such a poor educational system that human capital falls over time.

c.
The population of a country grows so fast that the educational system can't keep up.

d.
A country steals patented technology from another country.


12.
Once an idea enters society's pool of knowledge, the knowledge becomes a

a.
societal good.

b.
private good.

c.
public good.

d.
proprietary good.


13.
Malthus predicted that the power of population 

a.
was greater than the power of the earth to produce subsistence. His forecast was on the mark.

b.
was greater than the power of the earth to produce subsistence. His forecast was off the mark.

c.
was less than the power of the earth to produce subsistence. His forecast was on the mark.

d.
was less than the power of the earth to produce subsistence. His forecast was off the mark.

ANSWERS

1=C, 2=D, 3=C, 4=A, 5=C, 6=C, 7=C, 8=D, 9=D, 10=A, 11=A, 12=C, 13=B

